C
g Areferfaa ) IaTEw Higd GHAIEG |

26.

ks |
g wEmEE iy o S
Explain the following with examples :

. i i . O’S
(i) Aldol condensation (i) Cannizzar

fAroffiga ¥ 1UPAC W fod

EH _ H,—COOH
() CHy—CH-COOH (i) EHZ_ S
cl
(iiij C1—CH—COOH (vy CH;—CH=CH—COOH

0
(v) CHz— &— CH,—COOH

Write IUPAC names of the following :

O
H,—COOH
i) CH;—CH— COOH i
S 1) CH,—cooH
cl
(ii) Cl—CH—COOH (ivy CH;—CH=CH—COOH

(v) CH;;‘—E— CH,—COOH

reaction.

(118]
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67.

The IUPAC namc of KS{FE(CN]ﬁ] 1S

(A) Potassium ferrocyanide
(B) Potassium.ferricyanide
(C) Potassium hexacyanoferrate (I1)

(D) Potassium hexacyanoferrate (III)

fearfem B, # Iufeer @ 2
(A) W @  Afm
© D) Pk

Vitamin B,, contains

A

%) Cobalt (B) Magnesium
3 . am (D)  Nickel
[Ni(C,0, ), [*~ & Ni ¥ g Hwar 2

© 4 (D) S

The coordination number of Ni'n [Ni(C,0, ), [* s
(B) 6

@ 3
(D) '5

© *
/ \—Zifﬁ f XII-500 5-]331'40] P:
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(L‘H.i
Cliy= CH= CHy~ CH,C1 W1 TUPAC 7 &

() e 2 e s (1)) TR
(€)1 3Rl s (D) g A wrd ol

*Hy
The TUPAC name of CHy=CH=CHy— CILCl is

(A) 1 -chloro-2-methyl butane
(8) 1-chloroisopentane
(C)  1-chloro-3-methyl butane

(D) None of these _
C,H.Br +NaOHC,H.OH +NaBr Frefefas # frm y#m #
wfufsran 8 2

(A)  FeERRe e B) ThEER fawme

(C)  (A) 3 (B) T (D) T & w7

C,H_Br +NaOH—C,H,OH +NaBr is an example of which of the
following types of reaction ?

(A) Electrophilic substitution

(B)  Nucleophilic substitution

(C) Both (A) and (B)

(D) None ol these

24 /A / XI1-5005-(3a/40) Page 27 / 32
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C | " gus - W/ SECTION - B -
a'qzﬂﬁﬂ wv / Bhort Answer Type Questions
Iﬁgangam%fleﬂmﬂf*m#;m*ﬁ?
o 10x2=20 °
.'.’sb'ﬁrarﬁ?#f.

1 to 20 are Short Answer Type. Answer any 10 gquestions
10x2=20

a‘esﬁoﬂ Nos.
Each question carries 2 marks : .
Q) PETTEEFIR? “ 2
What is mole fraction ?
(@) I TR F i e ¥ g6y § waee w1 Fem g 2
Write Raoult's law of relative lowering of vapour pressure
2

3. TEhdufrawsad? TF sgEm
_ What are network solids ? Give an example.
| igh! oY fF Fed & 7 ITEWN & WY TS Hi |

What is Schottky defect ? Explain with example.

@ wiffees arftreiron si Temafie siftriew & ger st w=n § 2

What are thc main differences between physical adsorption and

2

chemical adsorption ?
At nfa wm R 2

What is Brownian movement ?

[ 24/A/X11-5005-133/40, Page 28 / 32




?ﬂ%ﬁmaﬂﬁ%wuﬁﬁgﬂ-mﬁm ) [_1[8]
; ' A1 W 35
Discuss electrochemical principle regarding rusting of i
sting ol iron.

8 et drevdhed T AT =T BT I9IE g7y B o

2
What is the effect of dilution on molar conductance ?
g, TS IEH FI 87 "
Which is Rosenmund reduction ?
10, ieierss 9y fRE SRR o @ 2 5
How is polypeptide bond formed ?
11, e e sl = 3 2 2
What is carbyl amine reaction ?
2. Frefafies Afe & rupac m fad 2
‘}{3 {fll | |
(i) CHy—C—CH,0OH (i) CHs~ CH-CH,-CH, -OH
CH,

Write the [UPAC names of the following compounds

g OH

p Ll e e

(i) CH;—=C—CH,OH (ii) CHy={ H=CH,;=ClHy -OH
CH,

24/Mx[l-5005*l33"°’ Page 29 / 32




13.

o

15.

16.

7.

18.
19,

20,

[ 118
DNA fmefifén & sy &1 auia S

Discuss the utility-of DNA fingerprinting.
fPrafafas & vF-vs emmm 3

() wTART g (i) EEA T

Give one example of each of the following .

(1) Synthetic polymer = (i) Condensation polymer.

HHAYT Fed Ao Mfires w1 o i w0 B 2

Why do transition elements form complex compounds ?
ST QT HEAT (EAN) S e &

Explain effective atomic number.

F,, Cl,, Br, W@ [, ® s@ 94T % 9gd %9 3 g4 |

Arrange F,, Cl,, Br, and I, in the increasing order of electr

affinities.

Kr (Z=36) T Xe (Z =54 ) % 6096 &=y fog| w
Write the electronic configurations of Kr ( Z = 3p ) and Xe (Z = 54
ol % 3 e % T v g e 2

Write the names and formulae of two ores of brici
tegfrfram v & Fedn § e s w1 g - »

Why is cryolite ore used during the exlracu
, Hachon of Al met
al ?

-*__g_qgnf.‘h’.{l oUUD (33/40) P /
MLV -8 age 30 /¢
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a | .

i T I9fig wyt / Long Answer Type Questions
mﬁwm#:sﬁu‘mﬁum#rﬁﬁﬁs’nﬁf*m# | geiE & o
5 @ fuifey # - ax5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any

3 questions. Each question carries 5 marks : 3x5=15

C 21, wfefem % an @ s wEE # 2 aﬁ:f%maﬂ%a—ﬁmmﬁmﬁﬂt
AT R P ST i 2+3
What do you understand by rate of a reaction ? What factors affect

the rate of a reaction ? Discuss.

22. WEAFNRE? mwﬁﬁwmmmm%? 2+ 3

What is soap ? How does it act in the cleansing of clothes 2

23. ﬁ%ﬁaﬁ%wﬁm%@wm‘mWWﬁMW

Write the principle of manufacture of ammonia by Haber's process.

How does il reaclt with CuS‘ihsolution ?

ety Gt w2 TR A T 6 v i >

wthn

24 .

How would you distinguish among primary, secondary and tertiary
! arw

alcahols ?

———— ' .1!?'“ x 5[105'[33340] ) —
d! f" l:b - st PE-\HE. 3 'l f 32




OH | An aldehyde on oxidation gives S—"

e O j am™
81 CHC‘_&H Ol UERS ! (A) an alcohol (B) a kctone
(a) 2-ETEgrg ®) 3% s i | (C) an ether (D) an acid
€ 2-EEEASEE o) FHAPT 40, FEEm e 2w i £ e i 2
S (A) wnifezese A (B) vHEfezEEE E

The TUPAC name of CH_;—(NJH- CH,—CHO is ] _
) 3 TAfFzEE ¥
(A) 2-Hydroxybutanal  (B) 3-Hydroxybutanal | (€ THRH (D)

(C) 2-Hydroxypropanal (D) None of these 1 Chloretone is formed when chloroform reacts with

38. A UTF SN 9 & (A) Formaldehyde (B) Acetaldehyde
(A) EIRE I F (C) Acetone (D) Benzaldehyde
[ . e
41. BFEiRafers 3 &1 9|= 53 2
(B) TEUEHE & | HqH Lo
€ 40% FT F wefg O W (A C,Hy,.50 B CH,O0
(D) RIGHEEERE #1 ' @ CHy0, 0 CRB..0

SN AL . N ‘ The general molecular formula of saturated monocarboxylic

4 acids is
(A) Formic acid
(B] Fl fi (A) CnH2n+‘20 [B! CHH:H O
uoroform
(C) an‘2n02 (D) C"HEH » 102

(C) 40% aqueous solution of methanal

D) Paraformaldeiyde po wite v w Wi @ PeRten § fees g fig e o

39, U% UoewRE ¥ e @ w2 2 | w R 2
(A) T T B) B A Wi aE (8) efem
| it Rifgan agFHEEe
©) TR (D) TH HA ) | - . L

[24/A/X11-5005-33/40) | Page 17 / 32
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45.

46.

47.

o
Prafeifor gt s Prelor 3 gy gt s A

(A) (B) #s
) fuem (D) wHifemm

Electrometallurgical process is used for the extraction of which of
the following metals ?

(A) Iron (B) Lead

(C) Silver (D) Sodium

gl Q -3 urg A B 2, 98 3T §

() ¥ B) e

(€) AR (D)  ig wrEUEe
An ore having two different metal atoms is

(A) Haematite (B) Galena

(C) Magnetite (D) Copper pyrite

152 2s2 ZJpxl 2py12pzl Frfefiga @ feg 9 =1 m w2 ?
(A) el (B) EEERH

(C) e (D) wEHH

Which of the following elements has electronic configuration

1s? 252 2pJ|:l 2py'2pzl ?

(A) Oxygen (B) Hydrogen
(C) Nitrogen (D)  Fluorine

[24/A/X11-5005-(33/40) | Page 19 / 32




S57.

[ 113‘:“ E

The electromotive force of the cell 2n | ZnSO, || CuSO, | Cuy
r

1-1 volt. Its cathode is
(A) 2n (B) Cu

(C) 2nSO, (D) CusO,

55. 3ngfe # g fee faar 2
ATEFEE

A (B)

(C) s (D) TETHE
'Who gave the theory of ionisation ?
(A) Faraday (B)  Arrhenius
(C) Ostwald (D)  Rutherford

56. mmﬁmﬁaﬁ*m%

(A) T TR W (B)

) sy somm w (D)  afe wm w

The rate of reaction of a substance depends upon
(A)  Atomic mass

(C)  Molecular mass (D)  Active mass

mq}@ﬁ%ﬁﬁwﬁmﬁma,aﬂ

A
(A) faafima B e b

(D) fafm

() fefmEe

REGCRR-CLIE R

(B)  Equivalent mass

58.

59.

60.

(1181

A vitamin which plays a vital role in the coagulating property of

blood is

(A) Vitamin A (B) Vitamin D
(C) Vitamin E (D) Vitamin K
FAQAHA-T R TF

(A) Temsrhade B) Uafes
(€) A (D) Eurtles
Chloramine-T is a/an

(A) Disinfectant (B) Antiseptic
(C) Analgesic (D) Antipyretic

TrEgT U gan 2 R v frafafea § frod sea A gaT 2 2

() e (B) TEBES

(C) R (D) S[EPpeTEE

Hydrazine is a drug which is used in the treatment of which of the
following ?

(A) Malaria (B) Typhoid

(C) Cholera (D) Tuberculosis

frfafigs # w1 ©F wwemgE @ 2

(A) PR B) N

(C) WA D) T wh

lﬁj&/xn-SUUS»ma ran |

| 24/A/X11-5005-(33/40) |
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Which of the following is an alkaloid ? iy
A)  Nicoti _ E g o ,
(A) icotine ‘ (B) Atropine F,C=CF, is a monomer of which of the following ? LN
(C) Cocaine
(D)  All of these (A)  Tellon (B) Glyptal
61. Frafafea § w1 5
!ﬂ}'ﬁﬁ: e ? () Nylon-o () Buna-S
A) A i ;
@) (B) ATEgEE 64. Ni(CO), # Ni #l st s 2
C '
(C) ieherreh D) e A 0 ® 1
Which of the following is a natural rubber ? sl @ B 2
(A) Isoprene B Nitiscelhilose The oxidation state of Ni in N1 (CO), 1s
C ‘
(C)  Polyethylene (D) Bakelite (A) O B 1
62. % ;
U F=1 92 S e a9 9 e 2, @ c) 2 (D) 4
(A)  Cfefs B) 65. Wﬂaﬁﬁmﬁﬁmﬁmﬁgﬁmmyﬁm ¥
() ufefrs = ) (A)  |PUNH,),]Cl, (B) |PuNH,);Cl[Cl,

A raw material used in making nylon is €) [PuUNH,)Cl, |Cl, (D)  [PuNH,4),Cly |Cl

(A)  ethylene Which of the following has the highest molar electrical conductance
(B)  butadiene '

in aqueous solution ?

% Sdipleasd (D) isoprene
| ) | Pt{NH,).C1 |C1
63. F,C=CF, fi=fufiga i fpwa dinm & » (A} |PUNH,) ICl, (B)  [PUNH,).CI]Cly
(€)  [PNH,),CL ICL, D) [PtNH,),CLICI
A)  TFEH .
” (B) R 66. K, |Fe(CN), | ¥ JUPAC M 2 |
i s (D) =EI-TH | (A) SRR SOEEAES @) RfwEm HEEs 1
= ) () R e (1) (D) TR FFEEARRE (111) .

29/A/ 15005 -as140) | Pagc24 /32 [23/A/XI-5005-arso | Page 25 |
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=Yy

R W S T YT

-

[wr—— -

] . . not a first order reaction ?
3 following is n°
which of the

+
cH, +H,0 —H— CH,COOH + CH ;OH

() " CH,€00
5 CH,COOC,Hs + NaOH — CH,COONa + C,H OH
© 2H,0, > 2H,0+0,
(D) 2N,0; —4NO, + 0,
o fedlt fidfm IR i BRI & 9 R & v 2
(Al s ! 3 B) we !l gl
© @A D) TEeF!

The unit of rate constant of a second order reaction is

[118)

|
|

(A] molL 'sec! (B)] mol 'L 'sec!
(C) mol 'L sec”! (D) molL sec™
10. Tt afufear =1 91 wder ‘(‘;—’t‘=s'c[1ﬂ1]”'~’~11—:¢]”2 2 @ arfufea
#ife &
a2 B) 3
2
3
) =2
\&) 5 (D) 1
If the rate equation for a reaction is % =k[H ]] = [B]” 2, the order ]
= Ey |
of reaction is
a2 B %
2
3 -
C 3 (D) 1

[ 24/A/X11-5005-33/40) |
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J
|

12,

13.

trey

X= 1/n m= 1/n

@) Z=kp B D=k.p
: k

(€ xm=kp'" B) =

1/n

(A Z=pp!l” (B) =k.p

C) xm=kp'" (D) ;f—;=pﬁ,,
el

(A) e o witafE aEr B) =& ¥ uiEfE 5
(€) = i uRdfm ‘ (D) = & widfa FE
Milk is

(A) fat dispersed in water (B) water dispersed in fat
(C) water dispersed inoil (D) [at dispersed in fat
frfifed & 1 erafsfrs wivigs 2 ?

(a) W | () ™

() i D) @

-Which of the following is a lyophilic colloid ?

(A) Milk (B) Gum

Fog (D) Blood

(€)

) [24/A [XILSDOS—gaaMm—l




u tmiﬁﬂﬁﬁﬂﬁmmﬂm] A

15.

16.

¥ Ry g S

w @2

A ALO, (8 Fos+Mo
(€ Cu0 D) Pt

Which of the following catalysts is used in the manufacture of
ammonia by Haber's process ?

(&) A,0, (B) Fe+ Mo

[C) CuO (D) Pt ‘ 18.

feffen i R e R s e s, 1 S gu dm 2 2
(&)  (CH,),CHX (B) CH,CH,X
(C) CH,CHCHJX (D)  (CH,),CX

Which of the following alkyl halides is hydrolysed by Syl
mechanism ?

(A)  (CH,),CHX (B) CH,CH,X

(C) CH,CH,CHX (D) (CH,),CX

Fee fi 3 9@ % gm sEem @ ww R e
(A) e (B) ufuefi

) v (D) @A .

Chloroform on reduction with Zn and water gives

(A)  Acetylene (B) Ethylene

(C)  Ethane ‘(D) Methane

mmmwmwmmammgﬁ
wa B

(A)  sTEufaE dm B) wHEA

(c) v o) e

When cthyl bromide is treated with dry silver oxide, then we get
(A) Diethyl ether (B) Ethanal

(C) Ethane (D) Ethene

= wfywds 2

(A) 3 CaCl, Td @1z HCl (B) 3% ZnCl, ¥4 87 HCI

(C) 3FE AICI,US §ig HC! (D} 312 PdCl, %3 Hiz HCI

Lucas reagent is

(A)  Anhydrous CaCl, and conc. HCI

(B)  Anhydrous ZnCl, and conc. HCI J
(C) Anhydrous AICI, and cone. HCI

(D)  Anhydrous PdCl, and conc. HCI

FH2- AR

(A)  STERE TERIRTS (B) ¥FvEh TRl
(©) Ried e (D) SRS CewiEa
Butan-2-ol is a

(A)  Primary alcohol (B) Secondary alcohol
(C}  Tertiary alcohol (D) Dihydric alcohol

Sy [P e ——— N S = ey




—r -‘ ?fm— ﬁﬂ——-—-—w

e Prefafern & fors o oo s B = >

?Hj (A)  PCI =
-C=0H
(A) CH,CH,OH B) CH~C | : 1
i ’ CH:‘C”3 .[Cl SOCI) [DI C 2
: ‘ fo acetyl
CH; With which of the following does acetic acid not form
(C) iHZO!I: (D) CH\;-#-CH;.OH chloride ?
CH,CH, A PCl. @) PCl,
Which of the following is & tertiary alcohol ? © socl, D) Ci,
EH3 23, UHiemEE Bl 2
(A}  CH,CH,OH (B) CH;—C—-OH .
] ‘
CH,CH; A) IE B) &=
H,0H : CH; () Iygusi (D) WEH
< CH,0H (D) CH3_():;CI::OH | Acetamide is
' CH,CH;,4 J' _
| (A)  Acidic (B) Alkalne
CH; ,
i e . (D} Neutral
2]. CH;—CH-CH,OH %1 [UPAC o 2 (C) Amphoteric
Hy
(A)  2-8fE. 1 -SigTe (B) smsEIEfea veRa .24, CHa-E;NHz e
3
(C)  2-3fm. ) = (D) A w ; (A)  STeRd i (B) WHvEd wiw
3
The IUPAC name of CH;—CH-CH,0H is Hy
CHy=C—NH; is a
(A)  2-methyl-1-propanal (B)  Isobutyl alcohol CH,
- i (B) Secondary amine
(€) 2-methyl-1-butanal () None of these (A) _ Primary amine ‘




faferfer @ 33 Frremia 2 o | (e

A} CH,OH B) CH,CN | _
(A) 4 (B) k| (A) Tﬁﬁfﬂ’ (B) weH
(C) CH,CHO (D) CH,NC © P o) =
Methylamine on heating with chloroform and alcoholic KOH gives Which of the following is a ketohexose ?
(C) CH,CHO @ CH,NC B (C) Sucrose ) Swrch
26. Frafifen § wed waifes o 2 | 20, Prefafes § fee w2 2
A) e @ (B) FEEAES &1
A CAHNH, B)  (C,H.),NH Y
(C) foas @ (D) wFE @
€@ CHNH, (D)  (C,H,),NH

Whi Which of the following types of crystal is diamond ?
Which of the following is the most basic ?

W CH, o i (A) lonic crystal (B] Covalent crystal |
6T 5 (C) Molecular crystal (D) Metallic crystal
5, S, (D) (C,H,),NH . 30. NaCl W1 & &= R
27. Hﬁaaﬁ%ﬁﬁﬁﬁmﬁnﬁﬁaaﬂmmwﬁ%? ‘ (A) Wi wg A (B) WS $i2d THIER
(A)  Fmafs g B) wEEEE Ty ( () =i guasa (D) iz $Za gaen
(C) Ve afem 1 am (D)  wET The structure of NaCl crystal is

- . A -
The helical structure of protein is (A) Hexagonal close packing

following 2

(A)  lonic bong B)
(€) _ van der Waals forceg

stabilized by which of the (B) Face centred cubic

(C) Square planar

Covalent bond

(D) Body centred cubic

D) Hydrogen bond




S B S S AL o e itk At m . 5 3
1 (Al C.H, "nC H.CH, (B C,H, "rCcCl, :

I S —
DR 0. 2

Ay ¥ "
| (C) CHCI, PRC . H.OH (D) CHCI, "0 CH, COCH,
T m) wa |
. Which of the following show positive deviation from Raoult's law ?
sohd 7+
Which of the following 1s an amorphous soh W) C M, andC,H.CH, B C,H, and cer,
Diam 1 Graphite
" on o 4 : (C) CHCIl, and C} H.OH (D) CHCl, and CH TCOCHJ
)  Common salt D Glass o -
% 35. feft e & wmof o = ffafae 7 2 fas ofm & 2 =
32 sweedn ifs e i A A B 8 o oo & »
Al 6 4
3 o | ) ==LR B IRt
c & D) 12
An octahedral void § (C) x=ET D) x=ET
i& surrounded by how many spheres ? R C

The osmotic pressure of a solution is represented by which of the

Al o B 4 .
= i - 6 following Ccluatmns 2 t
33 Mhntmﬁmﬁwm-mmﬂmwﬁmw' il oo
won f > © ==CL o ==£L
(A) e (B)  nderm 36 mﬁmmmmamm«mh
(C) v (D) e A I Ag,0 (B) ¥mAg,0
Which of the following modes of EXpressing concentration of a ol ® 30
solution does not depend upon temperature » Alkyl halides form ethers by reacting with which of the following ?
(A]  Molarity B)  Normality | W Dryag,0 (B)  Moist Ag .0
(€} Pormaluy D) Molality (€ Dryzno (D) Moist zno
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— ‘ | 118

4% - & [ SECTION - A

ive Type Questions

ﬂmﬂﬂ'/ObjeCt
ﬂgmmﬁwwﬁmﬁvw% forf @ oo

o 13 70 @ (@ # OMR e w fafdwm #¥ fr
; 35)(1:35
ssmfsrﬁfﬂ"

. Nos. 1 to 70 have four options, out of which only one is correct,
w‘snm 05.

have to mark your selected option, on the OMR Sheet. Answer any
You

35 questions. 35x1=35
| frfefed § HA STTEIERINGG S P S B ?

W HyPO, (B) H,PO,

(C) HI:’O3 (D) H4 P:_J o .

Which of the following is the molecular formula of Orthophosphoric

acid ?
. HPo, (B) H,PO,
) HPO, o) H,P,0,
" KeR i A 2
A g (B) FEHARI
€ wheeha () ¥ A w T

The Structure of XeF , is
(B) Octahedral

None of these

(A) Tetrahedral

C
\Qquare planar (D)
24 /A /X11-5005-(33/40)
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3.

| frffian § W 2ot S SR FEen vefii T8 & 8 2

A) 1 (B) Br
€ d D) F
Which of the following halogens does not exhibit a positive
oxidation state ?
Ay 1 (B) Br
(€ c (D) F
fofafes @ frrm su smamd s 2 2
(A) H,O (B) H,S
(C) H,Se (D) H,Te
Which of the following has the smallest bond angle ?
(A} H,O0 (B) H,S
(C) H,Se (D) H,Te
Fraferfan & foad srfam sergii €1 Gem sifman 2 »
(A)  Mg* B T’
[cy: v (D) Fe™

Which of the following has maximum number of unpaired
electrons ?

{AJ MSZa (B] Ti:h

© v (D) Fe*

[24/A/X11-5005 31491 | Pﬁ?j;&;‘mz .

| |
e e § “.lL

wiftam 61 sfuman siwdiem smon 2 118
(A) +2 B) +23
(C) + 4 Mm -6

The maximum oxidation state of chromium is

Ay +2 B} +3

c +4 (D) +6
Cu®*(Z=29) 943 § 3gMa 39924 1 5= 2

(A) O B) 1

€ 2 .M 3

The number of unpaired eiectrons in Cu *ion(Z=29)is

(a) o @) 1 :

c) 2 (D) 3
Frafafas § #i yuw sife it sfufEn R 2

(A) CH,COOCH, +H,0 —%"— CH,COOH + CH,OH
(B) CH,COOC,H_ +NaOH — CHCOONa + C,H_OH
(C) 2H,0, »2H,0+0, - -

(D) 2N,0,—4NO, + 0,

[237A7X11-5005-3/40) | Page 5/ 3




